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TEST |

ACCOUNTING, AUDITING & TAXATION

Which of the fallowing would be regarded as a variable cost in the annual operation of a motor vehkels ?
{1) Hire-purchase paymeants {2} Insurance (3] Petrol
(4} Tire replacement {3) Other than those given as opticns

With reference to Acocounting Mechanics — Basic concepts, which one of tha following statement is

'False' 7

(1} The word To' Is used with the accounts, which appear on the debit side of the Ladger fccount

(2} The Trial Balance helps in knowing the arithmetical accuracy of the sccounting entries

{3) Ledger records ransactions in an analytical order

{4) While posting fransactions in the Ledger, if the account is debited in the Jowrnal, It will be cradited in
the Ladger

(5) Other than those given as options

Wastage of a new material during a manufacturing process s 20 percent of input quantity. What input
quantity of raw matenal is required per kg, of autput 7

{1) 1.50 kg. {2) 1.33 kg. (3) 1.25 kg, {4) 120 kg {5) 0.8 kg,
The cost of product as determined under standard cost system s

(1) fixed cosi (2] historical cost (3) direct cost

{4} predetermined cos! (5) other than those given as options

In respect of statement of sources and application of funds, which one of the following statement is

‘False” 7

(1) Bank financlal statement (P&L and B/S) fall to show the movement and causes of changes in
assets/liabiliies during the year

{2) Statement of change in financial position identifies changes in asset liabilies and share holder funds
OVEr & given period

{3} Funds flow statement points out sources from which additional funds have been received during the yvear

{2 In fund flow statement, sources and applications relating to working capital funds are shown.

(5) Fund flow statement indicates flow of cash as wedl as funds,

Under which one of the following methods of depreciation, depreciation amaount provided is kapt aside
and invested in readity marketable securities 7

(1) Sinking fund method {2} Diminishing balance method (3 Straight line method

{4} Annuity method {5) Production methad

With reference to preparation of financial statements — Praofit and Loss Account, which one of tha
following statemant is 'True' 7 |

(1) The term 'Accrued Income' and 'Qutstanding Income' have sYnonymous meanings

{2) Premium paid on the iife policy of the propriator is debited io profit and loss account

(3) The current liabilities are used fo denate those liabiities which are payable afier a year

(4) Crealing reserve for discount on creditors is not stricily according o the principles of conservation
(5} Other than those given as oplans

The primea function ot-accounting is fo

(1) record economic data i2) provide the information basis for action
(3} classify and record business transaction {4) attain non-economic goals

{5) other than those given as options

Which one of the fallowing Accounting standard deals with Revenus Recognition 7

(1) AS =20 {2) AS =17 (3) A5 =13 4) AS <10 (5) AS =19
The process of creating a formal plan and translating goals into a guantitative format ls

{11 process costing (2) activity based costing (3] job order costing
(4) budgeting (5) other than those given as aptions

B3 B



H.12.

H.13.

.14,

H.15.

H.18,

H.149.

H.20.

H.21.

222

. S A B
(1) =R s (2} i &= 3 (&) s Hea s
{4) wRfRE s () B R @ g &
P o o el B
(1) e Ao (2) Fmm d=f + defaf = (3] ‘o] SR + W, S
(4) 5w e st (5) fmm e o e &0
mmﬂﬂaﬁﬁﬂﬂ{aﬁ}mﬁhﬂﬁrﬁmmﬂ!ﬁwmmﬁﬁﬁaﬁﬁﬁ e
A Tm |
(1) spRen (2) war (3) smger (4) wfede (5) Ry m e 9 S 3
Rrest # & o o) e amfe EE @ 7
11) =@ (2) St Pan (3) s fde
(4) gt (5) fom o Rewedi @ vieaw o
o et Bt e o P e e o
Tl
(%) (=)
2,50,000 5,000
3,12,500 _ 7,500
4,00,000 10,000
E-a ey i et G, R o o B 7
{1) T28 (2} T30 (3) T35 (4) T 40 (5] T50
. aitE # e ﬁﬁﬂmwﬁwwmammﬂmﬁmﬁﬁh
(1) mem, s o R (2) ooe, SR AwR WA (3) v, e @
(4] wenge, A m He () fm o fsd] o oieas
: ﬁﬂﬁﬁﬁﬁﬁﬁﬂﬁﬂﬂﬁ*ﬂﬁﬁ@ﬂﬂﬁﬁuﬁ#[ﬂﬁaﬂ]!ﬁ%7
(1) &m Fftmed amE (2) 2 e wre (3) &g FwaeE 77
(4) ¥ e wr () fam g Rech = hsam 50
mwﬁmwaﬁe——mﬁaﬁamtﬁrmﬁﬁﬁﬂﬂﬂwmmﬂm
T E
(1) maiRd (2) mRrd (3) DR (4 Smdftms (5) Ru e e o gigw 3
o § 3 A W W R
{1) e s o Fr i o Rl o e 2R 8
(2) e At 3 R s o AT g g A B
(3) mmﬂﬁqﬁﬁﬁaﬂiﬂﬁﬁﬁmﬂﬁmé
(4] e S & afed s o deveTEs MR AR
(5) B Rt 2 B 3P0
e e A S, BT A A A W e g R B 7
(1) e A HE S (2) o wIE ERTE
(3) ot srvanfE TRl & T 99 fa) o w3 e
(5) fimm Fedi 7 e s
ot & B el e HamEE et
(1) qaom + s i dgfE (2] wE o - e A ge (3) a7 EM + EE A e
{4) oz = — 3 4 i (8) Mg om + =E A FE
B 4 B



@.11.

Q.12.

Q.13

Q.14.

Q.15.

Q.186,

Q.17.

Q.18.

Q19

Q.21,

222

Debt Equity Ratio s —

{1} Liquidity Ratio (2} Soivency Ratio {3) Profitabllity Ratio
4] Activity Ratio {5} Other than those giver as aplions

Capita! Employved means -

{1) Net worth (2) Networth + Long Term Loans

(3) Current Asgets + Current Liabilities (4] Net Current Assats

(5) Cther than those given as oplions

When the auditor is an employee of the organization being audiled {audites), the audit is classifind as an
———— quatity @dif,

(1} internal (2) extermal (2} compliance

{4) valuntary (3) other than those given as opfions

Which one of the following is net a cusrent asset 2
(1) Book Dabta (2) Long-term invesimen| {3} Shorl-term nvestment
{4} Inventories (5} Other than those given as optiang

Acompany incurs the following costs ai various activity levels.
Actlvity Leval
%) {Units)
2.50,000 5,000
3,123,500 7,800
400,000 10,000
Using the high-low method, what is the variable cost par unit 7
(1) T25 {2) ¥ao {3) 735 {4) T 40 {6) T 50

Each of thrae parties involved in an audi piays a role that contributes to ils success.
(1) customers, auditor and audites {2} the client, the auditor and the third party
(3) the client, the moderator and the auditon {4) the client, the auditor and the auditea
{5} other than those given as options

Which of the following flems is not an appropriation (or distribution) of profit for a limited company 7
(1} Preference Dividend payable (2) Ordinary Dividend payable (3} Corporate tex payabie
(4} Debanture Interest payable  [5) Other than lhose given s options

The most comprehensive tyoa of audit iz the ——— systern audit, which examines Suilability and
effectiveness of 2 system as a whole.

{1) quantity (2) quality {3} preliminary

(4] sequential {5) Other than those glven as oplions

Which one of the following statement is “True' 7

(1) Ordinary shares have fixed dividends and stable markat values

{2) Ordinary shares have flxed dividends and volatile marke! values
(3} Ordinary shares have variable dividends and stable market valuas
{4} Ordinary shares have variable dividends-and volatile market values
(5) Other than those given as oplions

In Human Resources Accounting, which one of the fallowing first step Is invalved 7

(1) Batter human resource planining (2) Longer Time Horizan

{3) New Meazsures of Effective Manpawer Planning {4} Greater Accountability for Human Resources
{5) Other than those given as options

Cash Irom operations Is equal 1o

(1) NetPrafit + Increase in outstanding expenses (2} Net Profit - increasa in outstanding expenses
[3) MNe2 Profit + Increase in deblars {4) Net Profit — Increase in debtors

{5} Net Profit + Increase |n stock
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Which ane of the following is not a Curment Ligbility 7

(1) Bundry ereditors (2] Bank Owverdrafi (3} Outstanding Expenses
4} Long-term Loan i3] Other than those given as aptions

Teiephone charges is a

(1) fixed cost {2] sami-vartahle cost (3} variable cost

(4} marginal cost (5) Other than thase given as aplions

Which of the follawing components are exciuded from the computerized accounting systam 7

(1) Hardware (2] Software (3} Human Capabilities
(4] Matwaork (9} Accounting Policy Guidelines

Audit is fact finding process that compares actual results with

(1} Specified standards and plans (2} Expecled results (3} Premature resulis
{4) Preliminary results {5) Other than those given as aptions

Variable costs are those which

(1} are directly apportioned to cost unit ar cost cantrg (2} varies directly with production
(3] depands upan the demand (4] depends upon the =als

{5} other than those given as oplions

Which of the fallowing describas the margin of safaty 7

{1) Actual contribution margin achieved compared with that required ta break-aven
(2) Actual sales compared with sales required 1o break-aven

(3} Actual versus budgeted net prafit margin

(4) Actual versus budgeted sales

{5) Other than those given as aptions

As regards to computerization which one of the following statement is ‘False’ 7

(1) System design is done before coding slarts

(2) Adatabase can be defined as an organized collection of information

(3} Corruption of datg may shut down the whale system and destroy the complete database
{4) Evaluation of clerical syslem was the final phase

() Qther than those given as optiens

Which one af the following s first step in the computerisaton process 7
{1) Recording with software of spread sheats

(2) Classifying with codes and software

(3) Summarizing by using compiation tools

{4) Consolidation compilation uging Tally or spread sheets

(3) Other than those given as options

Process costing s applied when
(1) small number of different producis ame manufactured
(&) large number of identical products are manufaciured
{3} large number of diffarant products are manufaclured
{4) fixed cosls exceed variable cost

{3) other than those given as options

X' Ltd. has sales revenue of T 2,000, Depreciation for the period is T 2,000, Other operaling expenses
are T 200. Net loss for the periad Is T 500, Whal is the amount of funds generated from operation during
the period by "X"Lid. 7 (in T)

{1} 1,400 {2) 2,500 (3) 1.500 (4} 3,500 (5} Other than those given as opticns

The —— |z alsp expected to provide the resources needed and select staff members to acoompany
the auditarg 7
(1) auditor (2} client (3 intérnal suditor (4) audites  (5) other than those given gs oplions

Which ane of the following items is nat required in the final audit report 7
(1} Type of audit conducted

(2} Characteristic of audit

{3) lgentification of involved partias, auditor, auditee and the third party
14} Audit stendards and reference documents used

(5) Determination of proper corrective actions

B 7 e




T34,

H.38.

H.36.

H.aT.

H.28.

H.a8.

H.40.

a1

B.42,

H.43.

W44,

H.45.

222

ot dn R eyl 6 e T A e e T g S e 7

{1) o= {2) it {a) 9F (4) Toeiers {5)

Shveft e el 3 - o Pl A T E 7

(1) WEmEE (o) P 528 (3) Priv = e o T, W
(8] o8 =EE () i o

e p—

(1) Fam (2) e {3) et {4) s (5) R
mﬁmmﬁ?mmﬂqﬂmﬁﬁﬂﬁ#ﬁﬂmﬂﬁﬂ&ﬂﬁmﬁm!?

(1) 3 ol = 24 & (2) e w5 i B

{3} aﬁﬂﬁfa‘fﬂﬁmﬁ#@mﬁﬂ#m (&) w0 oF & e

() T B T e 9 O 5
s P B ey Rl s s e sy vy e, e e 7 o e @ e e ——

(1) ww dnwd (2) oo w8 (3) 8 MR E

(4] ‘g sk sRm g 2w @ (5) RemEiod

ey amad T ER A INE T

(a) T st (B} i Sl (C) sfmds

{1} {A) (B}, (C) (23, (B), (C), (W) (3) fir g Bt i PR I
(4} (€}, (A), (B} {5) {G). (B, (A}

it @) i e S & PR —

(1) s o R 30 T e e et ot e o st o A e @

(2) st 35 s i T e o 4 30 61 3 vl o o R @

(3) m&ﬁmhauﬁﬂﬂﬁﬂmﬁﬁmﬁh@mﬂmﬁmﬁﬁhﬁﬁmﬂmﬁt
(4) s ar  Frfas @z & w6 owl 8

(&) Ty Rl S BgIR ¥

e e A e S A et o B O e el # B et & ) ) T R e E 7

(1) %2 foee (2) smies AR (3) e Feram

(4} oin R (5] TR R
Mmhmﬁ_mmmh.wﬁwmﬁm#ﬂﬂmm B O & g g
B oot |

(1) 1&5% (2] 5 T8 (3) 449 (4) a =g (5) 1o whE

mammm@wmusm#éﬁﬂmﬁmﬁkm@ﬁﬁhmaﬁﬂwﬁwwmm
| e G S R B on AR S o A ?
(1) Smram {2 S (3) dmEm (a) wREE (5) Frm oy Faemel! o A Y

By R i sy W S R A e |
(1) et SRS s

(2) A T IR SR A T o e

[3) e F SRR T A S R
(4] 4 i el s HEv

(5) P e v amsdt v Ao

g S im e s e ?

(1) T wHR {2) T {3) o=

(4) Fufm St men (5) Brmw fmes o oamm &

B 8 B



.34,

.35,

2.386.

Q.37.

C1.38.

Q.39.

Q.40.

Q.41.

Q.42

Q.43.

Q.44,

.45,

222

While selecting operational cost of the branches of a bank which is the most sultzble of the averages 7

1) Made (2} Median (3} Mean {4} Quartiles {5) Rangs
The auditor of a Government Company is appolnted by —

(1} the shareholders {2) tho Beard of Directors
(3} the Comptrolier and Auditar - Genaral of India (4} High court

{8) Central Governimenl

Audit is 8 ———— functian,
(1} contral {2) monitaring {3} supensing (4} planning (5} compliance

When is a trader forced to sell even below its variable cost 7

{1} To beat his rval (2) Toincrease business
(3} To force the supplier to reduce price (4} To reduce taxes

{5) To getrid of perishable goods

If the: linancial stalements ara preparad as per he financial reparting framework, the auditor gives tha
opinion that the financlal statements ————

{1} are true and cormeci (2] are fairly correct {3} are correct end fair

(4) give 8 trus and fair view' (5} are reliable

What is the ocormeel sequence of the following stages 7

(&) Statutory Audit (B) Internal Ausdit {C) Intemal Chack

{1) (&), (B, (T} (2} {B), (C) (A} {3) Other than those given g5 optians
{4) (C), (A (B) (5) (€}, (B}, (A)

The first sharehoiders of & company are appointed ———

{1} by the shareholders in their first meeting to be held within 30 days of the Incarporation of the COMpaEny

(2) by the directors within 30 days of their meating heid after the incorporation of the company

(3} by the direclors in the first meating of the Board af Directors to be held within 30 days of tha
Incarporation of ihe company

{4} through the eppointment clause in the memorandum of gssociation

{5) other than those given as options

Which one of the following methods of selecting sample ensures that all items in the population have an

equal chance of salection 7
(1) Random selection 12) Dirscted satpction (3] Hephazard selection
(4) Block seteclion {3) Purposive selection

Under Companies Act a privata Lid, Gompany is deemed 1o be public Ltd. on fs SVErage consacutiva
three years turnover being ———
(1) 1 Crore (2} 5 Crores {3} 4 Crares {#] 3 Croras {5) 10 Crores

A nationalized bank in India opens a current account with Bank of America in New York for its dary to day
business fransactions in US doflars, It will be known as which of the following accounts 7

{1) Vostro Account (2} Noslro Account 3] Laro Accouni

(4) Escrow Account {5} Other than those given as cptions

Financial statements nead not he prepared in accordanse with

(1) refevant statutory requirements

(2) accounting standards issued by the Institute of Chartered Accouniants of India
(3} guidance Notes issued by the Instilute of Charterad Accountants of India

{4} Internal Accounting Policy of the Compary

{5) report of external agency an aecounting standards

Which one of the following is an item of Capital Expenditure ?
(1} Instalistion charges (2} Salary lo staff 13} Traveliing expanses
{4) Regular maintenance charges (5) Other than those Qivan as options
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Which one of the foliowing SA deals with the auditor's responsibilities in agreaing the terms of gudit
engagament 7

(1) SA =210 (revised) (2) 5A-330 {3) 8A-T00

{4} 8A-T05 (5) Other than those given as oplions

In preparation for an Audit, which ane of the fedlowing activity falis under Routinge checking 7
(1} Examining less than whole population

{2} To form an opnion on financial statements on the basis of selected items anly

(3) Judgemental or statistical deviee

(4} Ensuring arithmetical Accuracy in antries in books

{5) Other than those given as optlons

in case of dividend declared but remaining unpaid, what is the perod (in days), within which sueh
dividend should be transferred lo unpaid dividand account 7

(1) 14 {2) 15 (3] 21 (4) 30 {5) o
Consider the stages in auwdit given bekow

(A} Asceriain type of audit {B) Vouch receipts and payments

(€} Obtain documents from clients (D} Prepare Audit Programme

Whal is the correct sequence of the above stages 7

(1) (A}, (B), (C), (D) {2} (B), (A). (C). (D) (3) {A). (D), (C) (B)
(4) {A), (D). {B). {C) (5 (AN (C), (D), (8)

As per AS - 6, when a change in the method af providing depreciation would be made 7
(1) As required by the statue

(2} As required for compliance with an accounting standard

{3) Results in a better preparation of the financisl statements

{4) Resulls in a better presentation of the financial statements

(5} All the options given

Which one of the following is True' 7
(1) Auditor is responsible for prevention and detection of misstatements
{2} Disclosure of accounting policy, which is adopled in preparation of financial statermnants is not required

(4) Sampling is a major inherent limitation of audit
I5) Other than those given as oplions

Checking the amount in words auring wouching of cash lransactions helps the auditor o
(1) detect errors of principle (2} errors of commission (3} detect misappropriation
(4) errors of omission {5) systemic errars

In case ihere Is a failure of Board io appoint first Auditor within the stipulated period, what can be the
tonsequences under Section 224(s) of Companies Act 7

(1) Appointment shali be made by members in 58

{2] The appointment requires an ardinary resolution

(3} The appoiniment requires-a special resolulion

{4} Appoiniment shall be made by members in GM by passing an crdinary resalytion

{5) Othor than thase given as options

Checking serial number of vouchers during vouching helps the auditor to
{1) delect errars af principie (2} delect errors of omissian (3) detect Compensaiing ermors
(#) detect intenfional errore {5) detect external errors

Which one of the following does not quelify as an itern of 'Provision’ 7
(1) an amount written of

(2} an amount retained by way of providing for depreciation

{3) an amount retaired by way of providing for any known liabRity

{4) an amount retained by way of providing for taxes

(3) forex loss due to rate fluctyation
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Which ona of the following statement is "True' 7

{1} An Audit Programme shauld not be in writing as It is confidenta

{2) An Audit Programme serves as &n evidence of a true and fair view of the slate of affairs of the company

(3} An Audit Programme shows the Programme for preparation of financial siatemenits of the cormpany

{4) Distribution of duties to audit steff for checking of accounts must be made in consaltation with the
management of the company so that thay wark lagether to complete the audit in time

(3) Cther than those given as oplions

Which aneof the following statement is ‘True®' 7

(1} Audil plans once oeveinped should never be revised guring the course of ayudit

{2] After the auditor discusses his overall plan with the ciient, the overall audit plan and audit programme
becomes their joint responsibility

(3} Auditor should develop a Standard Audit Programme applicable o ail audits parmarentiy

{4) An audior cannot have any Lien on the books of accounts of the company sudied by him

(3) Other than those given as options

Which ena of the following statement is ‘False’ 7
(1) Posting a correct amount in the wrong account on corract side does not affect the Trial Balance
(2) Comect recording in the Journal Froper but not posted in the ledger at all will not affect the
Trial Balance
(3) Correct recarding in the Cash Book but not posted in the ledger will affect the Trial Balance
(4} Errors of principle will affect the Trial Balanca
{5} Other than those given as options

Audit Programme is prepared by
(1) the client (2) tha client and the audior (3} Other than those given as pplidhs
{4} the chief accountant {3} the auditor and his assistanis

Auditor should varify stocks which are not iying with the concem £.4. goods an consignmen|
(1) through physical verification at consignoe’s godown

(2} through obsarving the physical verification carried out by the consignee

{3) by ebtaining and examining the confimation from the consignes

(4) by obtaining and examining the confirmation from the consignos

(5} other than those given as opfions

Which one of tha foliowing is "True' 7

(1} First Auditor ean be appointed by inclusion of their names in Articla
{2} Subsequent auditor neads o give nolice to ROC

(3) HAGM is nat hald in time auditer automatically vacates his office
(4} Remuneration of branch auditor is fixed by the Statutory Auditors
{5) Other than those given as options

Which one of the following invelves depaositing the title deeds of the property with the lender as gacurity 7
{1) Equitable martgage (2} Legal martgage {3} Assignment
{4) Hypothecation (5) Pledge

Verifying the signature of the authorized official on the voucher during vouching helps the suditar to check
b —————

(1) ococurrence of the transastion {2) validity of the transaction (3) amount of the transaction
(4} period of transaction (5} other than thoze given as oplions

Prior period axpenses are
(1} expenses cradited to the current year profit and loss account, though redating to earier year
{2) expenses debitad to the current year's profit and loss account, though relating to naxt year

(3) expenses debited 1o the currant year's profit and loss account, though redating to earfier YEBrS
{4} expenses debited to the previous year's profit and loss sccount, though relating to current year
{5) othaer than those given as oplions
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The term HUF stands for
1) Hindu United Family {2} Hindu Unign Famiiy (3) Hindu Undivided Family
(4) Hindu Uniform Family (3} Other than those given as apticns

Mr."A’ who was abroad returned o India on 15t July 2011 and again left India on 10th January 2012
What is his residential status for he Bssessment year 2012-13°7

(1) Residant (2] Non-Resident

(3) Reslgent and ordinary resident {4) Resident but not ordinarily resident

(5) Other than those given as options

The following points should be noted or checked by the auditor in verification of an assst 7

{1) Checking the voucher {2) Checking the transaction

(2} Checking the entry in the books (4} Checking existence, awnership, non-omission and disclosure
(3} Other than those given as options

Which asset is not treated as LCapital asset for capital gain purposes 7

(1) Molor car for business use {2) Jewetory

{3} House property (4) Plant and machinery hald as stock-in-irada
{8) Other than those givan as options

Asnty amount recelved in excess of F —_ (D00, witholt consldaration is chargeable to Income Tax.

{1).5 {2} 10 {3} 50 (4] 100 (5} 500
Capital gain arises from the fransfar of P

(1} an asset {2) any fixed assat (3) = capital assat
{4) house property anly (5) Other then those givien as options

The canstitution of India empowers lalevy tax an income,

(1) State Governmant {2} Central Government {3) Pariament

4) Finance Bill {5) Public Accounts Commities

The financial yéar in which income is gamed 5 called as the \

1) Assesament Yoear {2} Present Year (3) Previous Year
(4} Currant Year {5) Last Half Year

Shivajl University is assessable undar the Income Tax Act as

(1) an individual {2]) sole proprietor (3) &local authority
(4} an artificial jurldical person {5) a company

Salary, bonug, commission or remuneration due to or recelved by & working partner from the firm is

taxablg under the Head .
(1) Income from salaries {2} Other sources

{3) Business incoma (4) Income from salaries and Other sources
(3} Other than those given as oplions

A person by whom any tax |s payable under the Income Tax Actls called as ————

1) Indivicust (2} Tax Receiver (3) Assessee
(4} Ciieni (5) Other than those givan as aptions
are chargeable under Section 45 of Income Tax Act
(1) Capilal Gains i2] Profit end Gains (3} Dividend
(4} Voluntary canfritiution (5) Other than those given as options
What are the total number of schedules under the Income Tax At 7
(1) 314 {2) 2g98 {3y 23 [4) 17 {2) 14

Capilal Expenditure Incurred on repairs of factory building is
(1] allowed as business deduction upto 25 percent

(2) allowed as business deduction upho 50 percent

(3} aliowed as business deduction upto 75 parcent

(4] tolal amount is allowed as business deducton

(5} not allowed as business deductian
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Q.73.

.80,

Q.81.

0Q.82,

.83,

Q.54

&.85,

.86,

.87,

.88,

.88,

Q.90.

The Life Insurance Policy taken by the persan an the |de of ancther parson, wha Is connected and key to
the business as employee is calied

1) Key LIC Policy {2} Key Man Insurance Policy {3) Key Insurance Policy

(4} Employed Insurance {31 Qiher than those given as aptions

Which one of the following Sections of Income Tax Act determines the year in which Dividend Income 5
faxable 7

(1) Section & (2} Section & (3) Section 7

{4) Other fhan those given as aptions {3) ‘Section &

Depreciation is alfowed in casa of
(1) Tangibie ficed assets anly {2) Intangible assets anly {3} Tangible and intangible assets
{4} Miscellaneous Assets only {5) Quick Assets

Interest on capiial on loan received by a partner from a firm Is
() exempt under Section 10 (2A) () exampt under Section 10 {AA)

(3} taxable as business and profession incoms (4} taxable as income from “other sources’
{5} Other than those given as aptians

Income Tax i5'a tax on
(1} Income {2) Profit (3) Tumower
{4) Expendliture {5) Other than those given as aptions

Mr. Rajendra set up a new business on 10th June 2011, What is the previous year for the AY. 2012-13 7
(1) 1stApri 2012 to 31st March 2013 (2) 10th June 2012 10 31st March 2013

(3] 1stApnl 2011 to 31st March 2012 ) (4} Other than those given as options

(5] 10th June 2011 to 31st March 2012

Service Tax Law s govarned by

(1) The Income Tax Act (2) The Service Tax Act

{3) The Excise Act (4} Cther than those given as options
{3) Chapler V of ihe Finence Act, 1904

Due date of payment of service tax other than for the manth of March, in case ofa GCompany is
(1) Sth day of tha manth immedistely following each quarter

() 5ih day of the month immediately following the quarter

13} Tth day of the month immediately following each quarter

4} Tth day of the month immediately following the quarter

(3) 25th day of the month immediataly fullowing each quarter

Return of Sarvice Tax has to ba fled

(1) monthly 2} quarterly (3) half yearly
(4} yearly {5] Other than those given as options
Service Tax is

(1) & direct tax levied by the Cenitral Government
(2] an ndirect lax levied by the State Govemment
(3} an indirect tax levied by the Ceniral Government
{2) a direct tax levied by the State Government

(5) Oiher than those givan as opticns

fncome under the head 'Income from other sources' is taxabla on

{1} due basls (2} receipt basis
{3} e basis of method of accounting reguiary employed by the essesses
(4) accrual basis {8) accrued basis

Canwversion of capifal asset into stock-in-trade will resull into capital gain of the previous year
(1} In which such conversion took ptace

{2] In which such converted asset is soid or otherwise ransferred

(3] Inwhich such eonveried assat was purchased

(4} In which such converted asset was leasad

(5} Other than those given as options
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In case of Goods Transport Agency, the service tax on freight is payable ——

(1) Always by the consignor {2} Always by the consignea

(3} Always by the Goods Transport Agency {4) Other than those given as oplians
{5} by the consignor/consignee, who is making payment towards freight

Entertainment allowanca in case of gevernment employee s

(1) fully exempt

(2) fulty Eeable

(3) exempt upto centain limits mentioned in Section {ii} of Income Tax Act

(4) Other than those given as options

(5) first included in full in gross salary and thereafter deduction aliowed from gross salary under
Section 16(il) subject to certain paramelars

In & production process two products of equal importance are being produced, these are ——
1) Jaoint preduct (2] By-produc {3) Co-product
(4) Independent product (5) Other than thosa given as options

Angle of incidence In Marginal costing refers to ——

(1) Rate at which confribution is earned {2) Rate of revenue sarnad
(3} Rale of cost incurrence (4) Safety angle for a firm
{S) Other than those given as options

Which is correct 7 A willful default takes place because of
(1} Chients losses due to lack of darmand (2] Lack of good pricing

{3) Govi. price control (4) Cosis control being slack
(5} Management attiluds '

Which one of the following Sections of Income Tax Act states the amount not deductible in computing
income chargeable under the head, 'Income from House Property’ 7

(1) Section 23 2] Section 24 {3) Section 25

(4) Section 28 i5) Other than those given a5 oplions

Which is based on time value concepl of monay 7

(1) Pay back (2) Accounting Rate

(3) Average annual accounting rate (4) Other than those given as options

(5) IRR

Leave salary received during the period of service is

(1) Exempt U/S 10 (1044) (2} Exempt U/S 10 (10CC)

(3) Exempt LIF'S 10 (10A) (4) Other than those given as options

{5) Taxable

Minar's income, which is clubbed with that of his parent is exempted upto

(1) T 2,500 par minor child (2} ¥ 2,000 per minar ehid (3} ¥1,500 per minar child
(4) ¥ 1,300 per minor child {5) Cther than thosa given as oplions

Which of these commands highest valus 7

(1] Wasta [2) Off-cuts {3} Spoils (4) Scraps (5] Defectivas
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TEST Il
GENERAL AWARENESS & GENERAL ENGLISH

Q101, Finc Smelter plant in Rajasthan is located in

(1) Debar {2) Bharatpur {3] Bundi (4) Ajmer (5} Jhunfhunu
©.102, The Copper plant in Rajasthan is situated in which of the following places 7

(1) Rawsibhata (2} Bhakhrota (3} Khetri Nagar  (4) Chanderia i5) Badmer
Q.103. i you are travelling from Agra to daipur by a Stata Bus or car directly, you will certainly pass fhrough ——

(1) Ratlam {2} Kota {3) Bharatpur (4] Jaisalmer {9) Jadhpur
Q.A04. Annual Urs of which of the faliowing haty Shrine is celebrated in Rajasthean 7

{1) Khwaja Mainuddin Chissi (@) Hajl Al {3) Haji Malarig

{4} Salim Chisti {5) Deva Sharir
Q.105. Which of ihe following cities is NOT In Rajasthan 7

(1) Jaiora {2) Jalandhar {3) Karaull 4} Sikar (5) Sirohi
Q.108. Which of he Taflowing Awards is given far excellence in the field of Literature of [ndian languages 7

(1) Kalidas Semman {2} Jamnalal Bajaj Award {3) Tensen Semman

(4) Arjung Award {5) Saraswati Samman
Q.107. Famous Kami Mata Temple Is situated in which of the following districts of Rajasthan 7

(1) Bikaner (2) Bharatpls (d) Jalpur

{4} Sri Ganga Nagar {5) Kota
Q.108. Which of the following is NOT grown in Rajasthan or a commercial basis 7

(1) Cotton (2} Paddy (3) Tea (4} Wheal 5] Mitlet
Q.109. Which of the following is the unit of the lcudness of sound 2

(1) Dyna (2) Decibal (3) Joule 14} Erg (2] Kno
Q.110. Maharani Gayatri Devi was the Rajmata of the rulers of ——

(7} Bharatour (2) Jaipur {3) Bikaner (4) Ganga Nagar (5] Udaipur
Q.111. Which of the fallowing is a popular food dish of Rajasthan 7

(1} Bhelpur (2) Daibati Churma (3} Masala Dosa (4} Jhalmudi (&) Littappa
Q.112. Famous ‘Hawa Mahai' |s located in the city af

(1) Udaipur 12) Kota {3) Jaipur (4) Nagaur 5} Tork
Q.113. Who among the following is NOT a famous authar 7

(1} Mohan Rakesh {2} Sushma Swara (3) Amit Choudhury

(4} Chetan Bhagsat {5) Kiran Desai
Q.114. Who among the foliowing Is & well known Cricket player of intermational repute 7

(1) Ganan Marang {2) Pankaj Advani 13) Bushil Kumar

{4) Gaulam Gambhir (5) Mahesh Bhupathi
Q.115. Which of the faflowing was a princedy state ruled by Rajputs prior to becoming a part of present Rajgsthan 7

{1) Kapurihalz 12} Mansa (3) Sangrur {4) Taram Tasan {5} Udaipur
Q.116. Famous Haldi Ghali Battla was fought botween Mzharzana Pratap and

{1} Akbar (2} Babar (3} Jahanair (4] Madir Shah {5} Shershah Sur
Q.A17. Which of Ihe following s one of the dialeces spoken |n Rajasihan 7

(1) Bundel Khandi (2) Awadhi (3) Marwari (4} Baghali (5] Baiswari
Q.118. Whao amang the following was never Chief Minister of Rajasthan 7

(1) Mohanisl Sukhadis {2) Han Dev joshi 13) Shiv Charan Mathur

(4] Mayawah (5} Jai Narayan Vias
Q.119. Which of the following States dees not make the boundary of Rajasthan 7

{1) Uttar Pradest (2} Punjab [3) Gujarat {4} Maharashtra  (5) Haryana
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In the Index of industrial Praduction {IIP), which séctor socalnts for major portion 7

(1) Capital Goods sector {2} Mining sector {3} Manufacturing Sector
(4} Eleciricity secior 5] Petrodeum secior

Who s the CED of PepsiCa Ing US4 7

{1) Chanda Kochar (2} Meg Whitman {3) Indra Nooyi

(4} Mary Kay Ash {5) Catherine Elizabath

Which is the fargest state of the Republic of India by areg 7

(1) Ubar Pradesh (2) Madhya Pradesh [3) Linaranchal

(4} Rajasthan {a) Bhar

Which of the following was the most favouriie game of Maharaja Man Singh of Jaipur 7

(1) Polo {2) Cricket (3} Badminton (4} Chess {5) Hockey
Wha amangst the following is NOT a member of the G — 8 7

(1) USA 12} France (3) South Africa {4} Italy {5) Germany
Which is the largest ity of Rajasthan 7

(1} Jamalmear {2) Banswara 13} Udaipur (4) Jaipur {5) Bhilwara
Eastermn Rajasthan has the warld famaus Heritage Site calied —

(1) Keofadeo National Park 12} Lion Sanctuary (3} Tiger Park

{4) Paacock Garden {5) Black Deer Park

A credit card allows the halder 1o
(1} Use the card within the balance avaliable in his account

{2) Use the card within the limit provided by the bank {3) Draw only cash from the bank
(4} Use the card withaut any tipper limif {5) Use anly for funds transfer
Wha is the present Chief Economic Advisar in the Ministry of Finance 7

(1) Dr. Kaushik Basy {2] Dr. Amartya San (3) Dr. Raja Chelllah

(4} Dr. C. Rangarajan {5) Dr. Raghuram G. Rajan

There are ——— districts in Rajasihan.

(1) 32 (2) 33 (3) 34 (4) 30 {5) 35

GOP stands for

(1} Grand Direct Purchase {2) Gross Domestic Purchase (3) Gross Domestic Product

{4) Great Domestic Purchase (3) Gross Domestic Produce

Wha is called as ‘Milkman of india” 7

{1) Verghese Jacob 12} Verghess Kurien {3) Mathew Kurien

(4 Kurien Abraham {5} Verghesa John

Abronze statue of which anciant king is instailed in Parigment House 7

(1) King Ashoks (2} Maharaja Rana Pratap (3] Samudragupta Morya
(4} Chandragupla Morva {5) Samrat Bharat

Multi-gity chaques issued by tha Banks are
{1} Payable &t all Bank Branches olher than Base Branch

{2) Collectible st par at any of tha Bank branches {3) Payable only at the Basa Branch
{(4) Payable at par at any of the Bank branches {5} Caollectible at the Base Branch only
The International Benchmiark LIBOR is set by

{1) Bank of England (2) Federsl Reserve of US {3) European Central Bank

(4} British Bankers® Association {5) Bank of England & European Ceniral Bank Jaintly
Who is the present Managing Director of IMF 7

(1) Chrigtine Lagarde {2] Dominique Strauss Kahn (3} Rodrigo Rato
{4 Horst Kohler 15y Michel Camdessus

Which is the most popuibus demioeracy in the World 7

(1) Ching i2) Pakistan (2) United Kingdom
{4) India {5} United States of America
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Q.137. The authority ta issue Bank notes is conferred upon

(1) Reserve Bank of Indis (2} Gurrency Mole Press, Masik
(3} Government of india, Ministry of Finance (4} State Bank of Indis
(5] World bank

Q.138. Banking Ombudsman Schema has besn framed 10
{1} resolve Dispules belween Banks
(2) resolve Disputes between empicyees and empioyer in g Bank
(3} resclve Disputes belweaen Indian and Foreign Banks
{4) resclve Disputes betwean Public Authcrities and Central Bank
{3) resolve Disputes between customars and Banks

©Q.139, Who ied the independence mavemant of India through ‘Non Violence Movement 2

{1) Mahatma Sandh (2} Jawaharial Nehru {3} Sardar Vallabh Bhai Patal
(4} Subhash Chandra Bose (5]} Acharya Kriplani
Q.140. Which one of the following ts not the name of a Port 7
(1) Vizag (2] Chennai (3} Mow Panvel {4} Kandln {5) Mumbai
Q.14%. Full form.of term "FII" which is much talked about In the Financial Waorld these days i ———0
{1) Financing Indian Investmant {2} Financing Indian Investors
(3} Financing Indian Institutions (4) Financing Instiutional Investors

{8) Forelgn Institutional Investars

Q.142. KYC procedure for customers is foliowed by Banks In order lo establich
(1) Credibility of the customer ' (2) Market Reputation of the customer
{3) Financial Viability of the customer (4) Financial Integrity of the custamer
(&) Identity of the customer

Q.143. Reserve Bank of India runs a Monetary Museum in

1) Dedhi (2} Pune {3} Magpur {4} Mumbai {9} Baroda
Q.144. When we receive the payment of our goods/services in US Dollars, this is called

{1} Barter Trade 12} Domestlic Trade (3} Wholesale Trade

(#) Retail Trada (5} Foreign Trade
Q.145. Putting funds in a tarm deposit in & bank is an example of

{1) Speculation {2) Gambiing 13} Hedging {4} Trading {3} Investing
Q.146. Which of the foliowing terms is used in the game af Cricket 7

{1] Lave (2) LBEwW (3) Hall Nelson

(4) Back Hand Drive {5) Deuce
Q.147. One of the malor Himalayan-origin river fhat Substantially fiow through india is

(1) Brahmaputra (2] Marmada i3} Hosi (4} Godavan {8} Kaveri

Q.148, Afer you have completed your transaction, you may leave the ATM raom anly after
{1} Money has been dispansed
(2) Statement of Account has been recaivad
[3) “Pleass Collest Your Cash” fe displayved on the screen
(4) pressing “No” to the query "Do you want to make another Transaction™
{5) Homa Page appears on the manitor

0.149. Indian Design Mark symoolizes product excellence of the products relating 1o

1) Service Industry (2) Education Sector (2} Real Estates
{4) Banking Industry {5} Mass Production Industry

Q.150. "Bayond Slrvival Emerging Dimensicns of Indian Economy® book was written By ———
{1) Dr Manmohan Singh (€} Sonia Gandhi (3) Pranab Mukherjes
(4} O B. Subbarao (5} Atal Bihari Vajpai
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[L151-162, Read the following passage carefully end answer ihe questions givan below il. Certan wards | prnirases

@151

Q.152.

222

have been printed in bold to help you locate therm whils anawering some of the questions.

According to industry sources, the privale education market in india was estimated 1o ba
worth 5§ 40 billion in 2008 and increased to about 5 68 billion by 2012, Despite the growing mvestment i
aducation, 35% of the population is illiterate and only 15% of the students manage to reach high school
Among the enginearing and polylechnic instituticns about 57% of college professors lack either a Masiers
degree or 8 PhD, Shodage of irained and quality faculty is becaming & major concern far many Indian
educational Institutions.

The Indian government lays emphasis on primary aducation up o the age of fourtean years
referred 1o as — Elementary Education in India. They have also prohibited child 1abour in order 1o ensune
that children de not enter unsafe working conditions and use that time for education. 80% of all recognized
echonls in India at the Elementary SEge are Government run or supported, making it the largest pravidar
of aducation in the country, “Right of Children to Free and Compulsory Education Act — 2009° bastows
free education to children from & to 14 years of age o up tn class VIl However, dus to shortage of
rasources and lack of palitical will, this system suffers from massive gaps like poor infrastructure, paor
lavel af teacher training and the poar ratio between the number of students and the number ol teachers,
The currant scheme of education for all in the age group of 614 regardiess of gender and soCio-etonomic
stalus — the "Sarva Shiksha Abhiyan' is one of ihe largest aducation initiatives in the world, Although the
anrolmant looks promising, the quality still remains low

Education in India falls undar the control of both the Unlon Govarnment and the Stales, with
soma responsibilities lying with the Union and the States having autonomy for others. The Indlan
consiitution has bestowad the citizens with school aducation as the fundamental right. Inspite of all the
sharteamings, India is making relantless effors to improve the education system thraugh such
programimhas.

A spacial programme — integrated Education Tor Disabled Children (IEDC), was slarted m
1074 with a faeus on primary education for disabled children Alongside also came & special programme,
the Hendriya Vidyaiays project started for the employeas of the Central Govemment of India, who ara
distributed throughout the country.

India’s higher education system seems o ne tha third largest in the world. |1t has abaut
20 Central Universities, 215 State Universities, 100 Desmad Univarsities, 5 Institutions established and
functioning under the State Acl, and 13 instiiutes which are of national importance. Tertiary level of
aducation In Science, Technology and Medicine are by and large given immense importEnce,

Which of the fallowing is/are the step/s taken by the Indian Governmeni to imprave the literacy rate
amoang children 7

{A) Compuisory education up fo faurtesn years of age.

(18} Banon child isbaour,

{C} Providing lrained facully to educational matitutes.

{1} Cnby (&) i2) Only (G} (3} Both (B} and (C)

(4} Both (A) and (B) {5) All (&), (B)and {C)

Which of the following s 8 matter of concern far the educationa! institutes in India 7
(1) Lack of weil trained faculty

{2) The State Governmanis have aulonomy in mary educational matlers

{3) Fields related to science and technology are given more impartance

{4) Almost 35% of the population is still lliterate

{5) Ofther countrias have mose educational instiiutes as compared to india
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Q153 The Sarva Shiksha Abhiyan is for
{1} Ensuring the education for onfy children who are above fourteen yazrs of age
(2) Providing financial aid to students who cannot afford education in privale instiiutes
(3} Providing education 1o children from G-14 years regardiess of gender and socig-economic status
{4} Providing education to people with physical disabifities regardless of age
{3) Training the teachers who will be leaching in Government run schools snd Colleges

Q.154.  Which ol lhe fallewing Is true according to the passage 7
(1) The number of teachers in India is very low as compared fo the number of students
(2} Fifty percant students manage to complete high schoal in India
{3) The Union Gavernment holds the sole authorily when it comes to the educational system of India
(4) Private educational instifutes confribute mare towards pramoting primary aducalion as comparid
ta the Governmen|
(%) MNone is frue

Q.155.  What is the Indian Governmeni's objective behind intraducing educational schemes and programmes 7

(1) Maintaining India’s reputation in the field of education and improving It so thal India has the largest
higher educational system in the world

{2) Eliminating the interference of the State Government from malters related 1o India's Ieracy rate

(3] Motivating the Ingian students to take up either madicine ar other science ralatad subjecis as
iheir careers

{4} Competing with private educational msttutes and surpassing tham

(5) Praviding basic education to every citizen of the country regardiess of gender, socio-econamic
background, physical disability and locatian In ihe country

Q156.  According lo the authar, why is the education system in India facing problems 7
(1) Most of the funds are being diverted towards aclivites other than education
{2) Lack of political wil and poor availability of resources In the country
(3) The enrolment under the Sarvs Shiksha Abhiyan was very low
{4} Highly educated and trained teachers da nai wish to work in the country

QL157-160.Choose the ward { group of words which is most similar in the meaning to the wond / group of wards
printed in bold a5 usad in he passage.

Q.157. Gaps (1) Distancas (2} Divergances 13} Equalities
(4) Broaks {5) Obstacles

Q.158. Relentiess {1} Tiring {2} Harsh 3} Pearsistant
(4} Ruthless {(5) Feebla

Q.159. Laysemphasison (1) Talks about (2} Stresses on (3) Acts an
4} Volunteers far {5] Cares for

Q.160. Bestows i (1) Takes {2} Calts (13) Provideg
(4) Affords {5) Puts in

Q.161-162. Choose the word / group of words which is most opposite in meaning to the word [ group of words
printad in bald as used in the passage,

Q161 Promising (1) Disappointing 2] Hopeful (3} Guaranteeing
(4} Piedging (5} Incompleta

0.162. Lack 11} Need {2] Regqure (3} Inciude
{4) Possess (5) Cantain
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Q.163-169.Each sentence below has a biank, each blank indicating that scmething has been omitted Choose the
word that hest fits the meaning of the santence asa white.

Q.163. Horticulture today is more than ———— planting and mairtaining iraas,
{1) afier (2} an {3) now (4] fully (5} |usi
0Q.164. Enesgy prices the production of ferilizers as well as costs redated fo food distribution,
{1} affect (Z) rise {3} bring (4] create {5} affect
0165,  Around 42% of India's childran below the age af three ara malnourished and this ————— 15 grealer
than the statistics of the sub-Saharan African regions.
(1) thing (2} amounis {3} area {47 figura (5} hall

Q.166. In many countries the petral prices are revised on an horly '
{1} timing (2) gaps {3} changes (4] basis (&) phases

0.167. Tha streel-play at spreading awareness about the benefits of organic farming,
(1} sims (2) targel {3) tries {4) talks (5) depicts

©.168.  They will not compromise on the quality as their credibility is st ————
{1} par [2} wiew {3} stake {4) scrutiry (&) chance

0.169. Childran who wish to ——— arlishic careers ehauld be encouragad 10 do S0
{17 linish [2) pursus {3) show (4) keep (5) transfer

£1170-175. Rearrange the following seven sentences {A), (B), (). (D), (E), (F) and (G) in proper sequence tofarm a
meaningful paragraph then answer tha guestions given below them.

{A) Modem technology and engineering have solved this problem by holding back the surplus water
instead of letting il recede,

(B) This great river has facilitated irigation in Egypland has produced the fertile area af the Nile Valley
and the Delta of Lower Egypt.

{C) Withouwt the Nile, Egypt would be & desert from end 10 end.
(D} This is done with the help of @ huge dam at Assuan which |3 savaral hundred miles up the Nile,

{E} Due to this phenomenan thera was atways a threat of draught uniil the next sBA%00'S raing unti
mader Limes.

{F} Muost of these farmers had to depend on the rains as it was the only fime during the year when the
water level rose up, flonding the parched land and It went down as winter approached.

(G5) Almost all of Egypl's riches spring fram this fertie land and i s cultivated by millions of farmers &5
was done by ancient Egyptians.

QA70.  Which of the following should be the SECOND sentence afier the rearrangament 7
{1 A (2} B (3) B 4y - (5) E

Qi71.  Which of the following should be the FIRST senfence after the rearrangement 7
{1) B 2} F (3) D (4) A & C

G172, Which of the following should be the FIFTH sentence afer the rearrangement 7
(1 E ) © (3 F (4) A (5) D

Q473 ‘Which of the folowing should ba the FOURTH sentence aher the rearrangament 7
(1 G 2) F {3) E (4) C (5 @
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Q.174,

Q.17s.

Q.176-185. Read each senlance carafully fo find out wheth

Q176

Q17T

2.178,

2173,

Q.180.

Q.181.

Q.182,

Q183

Q.184,

2185,

222

Which of the following should be the LAST (SEVENTH) sentence after the rearrangement 7

(1} F {2} D (3) B {4} A (5 C

Which of the following shauld be the SIXTH senlenca sfter the rearrangement 7
(1)'F {2} D 12) B (4) A {5) G

&r there is any grammatical errorin it. The efrar, if any, will

b in one part of the senfence, That part of the sentence is the answer, Il there is no ermror then mark {3)

I8 'Ma Emor’ a5 the answer. (lgrore errers of puncluations. if any).

| hardly recognising / the celabrity whan | { saw him sifting on a ! couch at the airpart.

(1) @) (3) (4)
My sister will / arrive on Monday and / will brings a bag full of cosmetics ¢
{1 (2} (3
tor me fram Londan.
{4}
Kingfishers are an group of / small to medium slzed brighfly |
{1 (2)
coioured birds mainly found In / Australla, New Zealand and the island of New Guinea.
{3) {4)
Madern Indian metros [ are a veritabla picture | of east and west in terms |
{1 (2} {3)
of fashion and clothing.
(4)
A melearite is a natural { object originate in outer Space / thal survives impact /
{1) (2} {3)
with the Earih's sudace,
(4}
The thieves locked / the servant in the ! bathroom and siode ail | the nold jewelieny.
{1) (2) (3] 4)
He went to the library /| 1o retum all the book / he had bomrowed but /
(1 (2) {3)
urtfertiznataly it was closed,
(4]
An endangered species | is a poputation of organisms / which faces a high risk /
(1} (2} (3}
of hecorming axtinct
(4)
Despite hiring | the best of iawyers Ravindra / did nat getting his rightful
(1) {2 (3}
share in the property
(4}
According o a recent | survey India has bamg declared | lhe second fastest growing
(1) 2} {2}
ecanamy in the werld
4)
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Mo Error
{5)

Ma Error
(5)

Mo Errar
(3

Ma Error
(5}

Mo Error
(5]

Mo Eirror
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Mo Error
{3)

Mo Error
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Ma Ermor
(5)

Mo Error
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0.186-195.1n the following passage there are blanks; each of which has been numberad, These numbers are

Q.186.

G.187.
Q.188.
G189,
Q.180.
Q.191.
Q.192,
Q183
Q.194.

Q.195.

222

printed below the passage and against each five words are suggested, one af which fits the blank
appropriatety. Find out the appropriate word in each case,

FDI or Foreign Direct Invéstment can te defined as a cross (186) investment, where foreign
assels are invested in the organisations of the domestic markel excluding the investment in stock. It
{187) private funds from overseas into products and services. The domestic company, in which foreign
currency is invested, is usually being (188) by the investing forelgn company. in the past decades, FDI
was concamed only with highly industrialised countries. U. S A, was the world's largest (189) of FDI
during 2006 with an investment of 184 million from QEGD (Organization for Economic Co-pperstion and
Development) countries. France, Greece, lceland, Poiand, Slovak Republic, Switzariand and Turkey
also have a positive record in FDI investments Maw, during the course of time, FDI plays a (18Q) par
in every country more parficulary with the developing countries. This is becausa of availability of cheap
labour, uninterrupted availability of raw material, less production cost compared to developed couniries
and guick and easy market penetration

Retailing s ona of the word's largest private industries, Liberalizations in FOI have (181) a
massive restructuring In retail industry. The benefit of FOI in retall industry superimposes its cost factors,
Opening the retail industry o FOI will bring forth benefits in larms of advanced employment, organised
retall stores, avaliabiity of quality producls ata {192) and cheaper price. Dueto economies of oparation,
production facilities will be available at a cheaper rate thereby (183) in availability of a variety of products

to the ultimate consumers at a reasonable and leaser price,
from overseas and develops the
talent (194) from other countries is pos
organised retall chain stores, However, Foi
physical capital jrvested in the domastic compan

infrastnecture of the dom
sibde due to FOI. FDIwill

is a long term investment because
y is not (193) liquidated.

FOI enables transfer of skilis and technology
gstic country. Furihar, greatar managerial
provide necessary capital for satting up
uniike equity capftal, the

(1) bargain (2) retum {3) stake {4) industrial (5) border
(1) brings {2) ramoves (3) dismisses {4) assumes (5) detecis
{1) suthorised  (2) eliminated (3) controlled {4) secluded {5) witnessed
(1) wisher {2} blunder {3) recipient (4) governor (5) opponant
(1} instrumental  (2) dismissal (3) teast (4) witad (5) Impaortant
{1) uprooted (2} caused (3} bought (4) volunteered  (5) displaced
(1) mare (2) best {3) better (4) least (5) less

{1) making (2) resulting (3) reducing {4) regressing  (5) causing
(1) demolished  (2) saturated {3) outsourced  {4) inflow {5) raised
(1) precisaly {2) certainky {3) easily {4) highly (5) apparently
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Q.196-200. In sach question below,

0196,

Q.187,

Q.198.

£2.199.

Q.200.

222

four words printed in bold type are given. These are numbered (1), (2), {3) and

{4) One of these words printed in bald might either be wrongly speit or inappropriate in the context of
the senlence. Find out the word that is inappropnate of wrongly spelt, if &ny. The number of the word is
youranswer. if the words printed in bold are comectly speit and appropriale in the context of the sentence

then mark (5) Le Al Carrect’ 28 your answar

It has been questioned whether a diet high in sugar, especially refined sugar, is bad
{1 {2) (3}
far heaith,
(4]

Yolcanic Mountains are formed due to volcanic eruptions where magma pilies up on
(1) (2) (3)

Ihe surface of the Earih
(4}
He was the member of the committee which decides the syllabus and the structure of
(1 {2) {3)
exams for collages.
(4}
The chairman of my company conducts variaus eco-friendly activities for the sake
{1 (2) (3)
of publisity.
(4)

Shalin keeps all her valuebals in the bank locker becausa she does not trust anyone
(1) i2) (2)
including her mothar,
(4)
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(5}

All correct
{5)

Al eorrect
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All Correct
(5)
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Q. FORM ®BO : 222 (RIGHT ANSWERE)
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©. Ho. Basponse . Ho. Responas Q. Ho. Responsa Q. Ho. Reaspanse
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1 3 g1 : 1 i1 = 1 151 4
. 4 52 : 3 102 ¢+ 3 152 1
3 3 B3 ; 4 163 : 3 153 2
1 4 54 5 104 1 154 1
5 d 85 L 108 2 1585 5
& 1 55 4 106 5 156 z
7 4 E7 4 107 1 157 5
= 3 58 4 108 3 158 3
3 5 50 5 109 2 155 2

14 2 &0 3 110 2 160 3

11 o 61 2 111 2 161 i

1z 2 B2 1 112 3 162 4

13 1 63 2 113 2 163 5

14 2 Bd 3 114 4 154 g

15 . 65 3 11% 5 165 F

16 i BE 1 116 1 166 4

17 4 67 & 117 3 167 1

1A 2 6B F 118 4 168 3

19 4 69 5 118 4 168 2

20 1 T0 : 3 120 3 170 3

21 1 T @ 3 121 3 171 5

22 4 - S 122 | 172 1

23 2 73 4 123 1 173 2

24 5 74 3 124 3 174 2

25 1 75 3 125 4 175 o

28 5 V6 1 126 1 176 1

27 2 T & 127 2 177 3

28 4 TE 5 128 5 178 1

29 1 - 2 128 2 174 5

ao 2 1o} 5 130 3 180 2

31 2 A1 3 131 2 181 5

3z 4 B2 3 132 4 182 2

a3 3 B3 1 133 4 183 5

34 1 B4 5 134 F 184 q

i5 3 85 5 135 1 185 2

38 1 5 BE 2 136 4 186 5

a7 5 a7 3 137 1 187 1

s 4 g8 3 138 5 188 3

38 1+ § B i 135 1 184 3

40 3 1o} 2 140 3 160 4

41 I 1 31 L1 141 B 191 2

42 2 g2 5 142 g 1462 3

43 2 93 3 143 4 193 =

44 5 94 L 144 g 194 4

45 1 85 5 145 5 145 3

d6 1 98 3 146 2 156 E

47 & g7 5 147 1 157 a

48 4 98 5 148 g 158 4

49 5 99 3 143 5 188 4

50 i 100 5 150 3 200 y

T T T T T T T T e e o S 0 e e e S OB B . S5 5 i - - iy S o

Blank space, if any against Q. no. means the Question is dropped and marks added
to candidates score i.o. credit given to all the candidates for the dropped
uastion(s) .



